COMMENT |This is an example of an EXCEL data set
DATASET |Test
DATE 2/18/93
TIME 1:23:45.6789
PLOT_TYPE |rectangular
SET_Y -0.3 1.1
PRINT 5 7L
SIGNALS X Y=Sin(X)/X |diff(Y)
UNITS sec feet feet/sec
DATA
-6.2832 2.30E-06 -2.30E-06
-5.8832 -6.62E-02 6.62E-02
-5.4832| -0.1308262 6.46E-02
-5.0832| -0.1833558 5.25E-02
-4.683199| -0.2134383 3.01E-02
-4.283199| -0.2122953 -1.14E-03
-3.883199| -0.1739477 -3.83E-02
-3.483199 -9.62E-02 -7.78E-02
-3.083199 1.89E-02| -0.1151048
-2.683199| 0.1649182| -0.1459896
-2.283199 0.331462| -0.1665438
-1.883199| 0.5053093| -0.1738473
-1.483199| 0.6716333 -0.166324
-1.083199| 0.8156037| -0.1439704
-0.6831989| 0.9240021| -0.1083984
-0.2831989| 0.9866866 -6.27E-02
0.1168011| 0.9977278 -1.10E-02
0.5168011| 0.9560768 4.17E-02
0.9168011| 0.8656835| 0.0903933
1.316801| 0.7350512| 0.1306323
1.716801 0.5762812 0.15877
2.116801| 0.4037252 0.172556
2.516801| 0.2324094| 0.1713158
2.916801 7.64E-02 0.155989
3.316801 -5.26E-02| 0.1289751
3.716801| -0.1463651 9.38E-02
4.116801 -0.201083 5.47E-02
4.516801| -0.2171744 1.61E-02
4.916801| -0.1991499 -1.80E-02
5.316802| -0.1547615| -0.0443884
5.716802 -9.39E-02 -6.09E-02
6.116802 -2.71E-02 -6.68E-02
6.516802 3.55E-02 -6.26E-02
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6.916802 8.56E-02 -5.01E-02
7.316802| 0.1174222 -3.18E-02
7.716802 0.12837 -1.09E-02
8.116802| 0.1189706 9.40E-03
8.516802 9.26E-02 2.64E-02
8.916801 5.45E-02 3.80E-02
9.316801 1.16E-02 4.30E-02
9.716801 -2.96E-02 4.12E-02
10.1168 -6.31E-02 3.34E-02
10.5168 -8.44E-02 2.13E-02
10.9168 -9.13E-02 6.92E-03
11.3168 -8.38E-02 -7.47E-03
11.7168 -6.41E-02 -1.97E-02
12.1168 -3.59E-02 -2.82E-02
12.5168 -3.96E-03 -3.19E-02
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